o s | 1| AR | 2R AR ZEMR | R | AR | R | AR | 22 | 2R
3 | B0 | ¥h | BFIE | BFIE | BReE | kkek | BV | 3ReE | ARgk | WA
R I Bt 55 5.1 ] 5.1 0.75|-0.75 174 |0.25|-0.50| 24
—AESR 1R AP 5| 5.0 | 5.0 0.75|-0.75| 164 | 0.75|-0.75| 165
—AEGR 1 #2584 B 49| 49| 5.0 5.0 [3.50[-1.50] 177 | 4.00|-1.50| 160
—AER 1Y JEe| B 5.0 | 5.0 1.50|-1.25] 2 |0.00[-0.50] 3
—AER 1M 54| B | 5.0 | 5.0 1.00/-1.00| 4 |0.50|-0.50| 172
R K| 5
—ER 1Y 2| & | 5.0 | 5.0 1.00|-0.50| 178]1.00|-0.75| 159
— ARG 1B 4| 58| 5.0 | 5.0 -0.50-0.25| 167 |-0.25[0.00| 0
—AER LI was | & | 4.9 | 4.9 -0.25/-0.75 2 |-0.50[-0.25| 162
—AERIM 4k | 5] 5.0 5.0 0.75/0.00f 0 |1.00|-0.50| 168
—AER 1 54| & | 5.0 | 5.0 -0.50|-0.50| 123 |-0.75[-0.25 40
—AERI FEiE | B 5.0] 4.9 1.00|-1.00| 151 |1.25|-1.00| 11
—AER 1Y 2 5| 58| 5.0 | 5.0 0.75|-0.75( 4 |0.00|-0.25[ 171
—AESR 1M 2= 97| B 5.0 5.0 1.25|-0.75| 168 |1.25|-1.00| 174
—AEGR I s ee3t| & | 5.0 | 5.0 0.75|-0.50| 168 |-0.25/-0.25| 165
—AER 1Y x| 2% B | 5.0 | 5.0 1.50[-1.25 11 |1.50|-1.50| 167
—ER 1M x)%35| B | 5.0 | 5.0 1.00|-0.75| 169 |0.75|-0.75| 166
—4ER 1Y o452 5| 5.0 | 5.0 1.25|-0.75| 156 | 1.00{-0.50 18
—AER 1Y fmfit| % | 5.0 | 5.0 1.25|-1.50| 168 |1.00|-1.00| 6
—AERIM ikt | 5] 5.0 5.0 1.00|-1.00| 6 |0.25|-0.50| 166
—4ER 1M s3] & | 5.0 | 5.0 1.75|-1.00| 170]0.50|-1.25 3
—ER I Emwm A | | 4.9 | 4.9 1.00[-0.75 164 | 1.50(-1.50| 179
—4ER 1M Faryr| & | 5.0 | 5.0 -2.50-0.50| 141 |-2.00[-0.25 53
—4ER 1Y Fum| & | 4.9 5.0 1.25|-1.25| 155]1.00|-0.75 1
—ER 1Y F 4| & | 5.0 | 5.0 0.00|-0.50| 175]0.00|-0.50| 176
R R4 B | 5.0 5.0 0.00[-0.25 112 |0.25(|-0.25| 78
—4ERIY 54 | B 5.0 5.0 0.25/0.00f 0 |0.00|/0.00 O
—HERI 2| 5] 5.0 50 -0.25-0.25] 99 |-1.50[-0.25| 141
—AER I 1| & | 5.0 | 5.0 0.00|-0.50| 171 | 1.00|-1.00| 163
—4ER 1 g 5247) & | 5.0 | 5.1 -0.50[-0.25 9 |-0.25[-0.50| 170
—AER 1 #eer M| B | 5.0 | 5.0 0.75|-0.75| 173]0.50(-0.50( 174
—4ER I s A | & | 5.0 | 5.0 1.25|-0.50| 7 |1.25|-1.00| 167
—4ER 1M 2| & | 5.0 | 5.0 1.25|-1.25 176 |0.50|-0.75| 175
—4ER 1Y #pz=45| & | 5.0 | 5.0 1.50|-1.00| 169 | 1.50|-1.25| 175
—4ER 1 #paksi| & | 5.0 | 5.0 0.50|-0.25| 125]0.50|-0.25| 129
—ER 1M a2 B | 5.0] 5.0 0.50|-0.50| 154 | 0.50|-0.50| 171
—AER 1 SaEt| & | 49| 4.8 5.0 5.0 [0.00[-1.75] 178 [0.00|-1.25| 175




—AERIY T2 B | 5.0 | 4.7 0.75|-1.50, 0 |1.25|-2.00 1
—ER 1Y T 75| & | 5.0 5.0 0.50[-0.25 132 0.75|-0.25 11
—EH I Sdm| B[ 5.0 5.0 0.00(-0.25/ 14 [0.00[/0.00| O
TR & | $5150]5.0 1.00|-1.00| 164 [0.75(-0.75 177
—ERIY mm=| B | 5.0 5.0 -0.50,0.00| 0 |-0.25-0.25 14
—EH 19 sk kiR | & | 5.0 | 5.0 0.25[-0.25 1 [0.00[-0.50 149
—AEG 1 sk gzl B | 5.0 | 5.0 1.50[-0.75 171 | 1.00/-0.50| 166
—EH I mE | B[ 5.0 5.0 0.75|-0.75 166 |0.75|-0.50| 152
—HER 1 )R] % | 5.0 5.0 0.50[-0.50 3 |0.50|-1.00| 175
—AER 1 J5 74| % | 5.0 | 5.0 0.00[-0.25| 162 |-1.25-0.25 170
—AER 1IN eyt B3| 5.0 | 5.0 0.25|-0.50 176 |0.75|-0.75| 173
—ER B etkm| & | 4.7 | 4.9 2.50(-2.00| 168 [ 1.00|-1.25 5
—AERIP kg | F[49]49 -1.00/-1.25 3 |-2.00|-1.25| 173




| A | ZW | AR ZR | ogm | AR | AR | 2R | 2R
FURR| BE | oy ap |y | BE | BE | e | mes | 90 | me | ae
— RO Al S | 5.0 | 5.0 1.00 [ -0.50| 179 | 1.00 | -0.75
—AFR2PRRGAR| B | 5.0 | 5.0 -2.00(-0.50| 8 | 0.00|-0.25
—AER 2P 4483 58 | 5.0 | 5.0 0.50 [-0.25| 9 | 0.75[-0.50
—AER2PHaR| 5B | 5.0 | 5.0 0.00 [ -0.50| 173 | 0.00 |-0.25
—AER2P THH&|% | S0 | S.0 0.75 | -0.75| 175 | 1.00 |-1.00
— AR 2PN e[ 58 | 5.0 | 5.0 0.25 [ -0.25| 174 |-0.25|-0.25
—ERPH B KZ|H | 5.0 | 5.0 0.00 [ 0.00| 0 | 0.50|-0.50
—EF2IEREISH | 5.0 | 5.0 1.25|-1.25( 172 | 1.25|-1.00
—AER2PH Bk Fegz[ 58 | 5.1 | 5.0 -0.75 0.00 | 0 |-0.25| 0.00
—AER2PHEREF 5 | 4.6 | 4.8 -1.00|-0.50| 170 |-1.00|-0.25
—AER2YRRIEF S | 5.0 | 5.0 -0.50(-1.00| 6 |-1.00|-0.50
—AEZR2PH /N[5 | 5.0 | 5.0 0.00 [ 0.00| 0 | 1.00|-0.75
—AER2PH AT 5 | 5.1 | 5.1 -0.75(-0.25| 174 |-0.50| 0.00
— RSO JE sl B | 5.0 | 5.0 1.00 [-0.75| 7 | 1.00|-0.75
— ARGV Tkl B | 49 | 50 | 5.0 | 5.0 | 0.00|-1.25| 11 | 0.25|-1.50
— AR ARl B | 5.0 | 5.0 0.00 [ 0.00| 0 | 0.75|-0.75
—AER2PH BB 5 | 5.0 | 5.0 0.50 [ -0.25| 116 | 0.50 | 0.00
—AEOIHFEEm|( 5 | 4.9 | 4.9 -0.25(-0.50| 173 | 0.00 | -0.25
—AE2PH AL 58 | 5.0 | 5.0 0.00 [-0.50| 8 | 0.00 |-0.50
— ARk —i 58 | 4.9 | 4.9 -1.00[-0.50| 116 |-0.25|-0.25
—AER 2P ffsh 22|58 | 5.0 | 5.0 0.00 | -0.75| 11 | 0.00 [-0.75
—AEROPH S| 5B | 5.0 | 5.0 0.50 [ -0.25| 165 | 0.50 |-0.75
— AR F&EE 5B | 5.0 | 5.0 0.75 [ -2.00| 174 | 0.75 | -2.25
—AER2PH FAEmM| 5 | 5.0 | 5.0 1.00 | -0.50| 146 | 1.00 |-0.50
—ER2IM A 5 | 5.1 | 5.1 0.25 [ -0.25| 162 | 0.00 | 0.00
— AR AER| 5 | 5.0 | 5.0 0.00 [ -0.25| 151 |-1.00|-0.25
—AER2PH A 58 | 5.1 | 5.1 -0.50|-1.75| 168 [-0.25(-0.75
—AE2VH RSB | 5.0 | 5.0 -0.25(-1.00| 95 |-0.75|-0.75
— AR A | & | 5.0 | 5.0 0.25 [ -0.25| 174 | 1.00 |-0.75
—AE2PH B F & | 5.0 | 5.0 0.50 [ -0.50| 5 | 0.50 |-1.00
—AER2VH i & | 49 | 5.0 -0.50 [ -0.25| 148 | 0.00 | 0.00
—AER2IN A F |4 | 5.0 | 5.0 0.50 [ -0.50| 140 | 1.00 |-1.25
—AELR2PH T & | 4.9 | 4.9 1.25 [ -0.75| 176 | 1.00 | -1.00
—ER2PIRE (L | 5.0 | 5.0 0.00 | -0.25( 152 | 0.50 | -1.00
—AEOP S|4 | 5.0 | 5.0 0.00 [ -0.50| 138 | 0.00 |-0.50
— AR 2P k| & | 5.0 | 5.0 0.75 | -0.25| 178 |-0.25|-0.25
—AEFH2P ¥k |[#& | 5.0 | 5.0 1.50 [-1.50| 171 | 1.25|-1.25




—AER2P ME |4 | 5.1 | 5.0 0.00 [ -0.50| 173 | 0.50 | -0.75
—AESR2PY f74E (& | 5.0 | 5.0 0.00 [ 0.00| 0 | 0.00]| 0.00
—AESROPR g % | 5.0 | 5.0 1.25|-1.50| 166 |-0.25|-0.75
— AR AR 4 | 5.0 | 5.0 1.75 [-0.75| 32 | 1.00 |-0.75
—AER2P FEZ[ & | 5.0 | 5.0 0.00 [-0.25| 12 |-0.25|-0.25
—AESROBR SR A% | 5.0 | 5.0 1.25|-1.50| 168 | 1.75|-2.00
— AR 2B Bk ik| & | 5.0 | 5.0 0.00 [ 0.00| 0 | 0.25|-0.25
— RO RtEWH & | 5.1 | 5.0 1.00 [-0.75| 175 | 0.75|-1.00
—AESROPH skl & | 5.0 | 5.0 0.50 | -0.75| 175 |-0.50|-1.00
— AR VERLw| 4 | 5.0 | 4.9 0.00 [ -0.25| 169 | 1.25|-1.25
— AR 2P e & | 48 | 5.0 | 5.0 | 5.0 [ 2.00|-0.50| 148 | 2.25 [ -0.50
—AER2P k2[4 | 5.0 | 5.0 0.50 | -0.25| 128 | 0.50 | -0.25
—AER2B Akt 4 | 5.1 | 5.1 0.50 [ -0.75| 7 | 1.50|-1.50
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175

173

172

170

179

164

149

167

172

166

173

166

160

147

173

155

175

160

143

166

70

160

158

177

174

169

62

165

170




164

156

18

174

166

171

174

109

158

166




e | MR | A | AR | ZR ) pm | osm | AR | 2R | 2R
FORABN TR wy |y | woy | FE | S | e | meem | 90 | sme | e
— AR 3P| (4 | 5.0 | 5.0 0.75]-0.50| 11 | 0.50|-0.50
— AR S| s [ | 5.0 | 5.0 -2.75(-0.50| 19 [-2.75|-0.50
— AR SPE| i |5 | 4.8 | 4.9 0.00| 0.00| O | 0.25(-0.50
— 3P MR | & | 5.1 | 5.1 0.00 |-0.25| 165 | 1.25|-0.75
—ER3PE 52| B | 5.1 | 5.1 0.00 [ 0.00| 0 | 0.50(-0.50
—AER3PE iR &|H | 5.1 | 5.1 -1.00|-0.50| 167 |-0.50|-0.75
— AR 3P| k|5 | 5.0 | 5.0 -0.25(-0.25| 168 | 0.00 |-0.50
— AR 3| mRkiE % | 5.0 | 5.0 0.25 [-0.25| 174 | 0.50 |-0.25
—AER3PE x| % | 5.0 | 5.1 0.75|-0.75| 160 | 0.25|-0.50
— ARG 3P| sEskw |4 | 5.0 | 5.0 1.00 [-0.25| 82 | 0.50|-0.50
—ERIPE SRR | & | 5.0 [ 5.0 1.25(-0.50| 155 | 1.00 |-0.50
—AERIY EER (B | 5.0 [ 5.0 0.25|-1.00| 166 | 1.00 |-1.25
—AER3PE 25 |5E | 49 | 46 | 5.0 | 5.0 | 2.00|-2.25| 175 | 1.75 |-5.00
—AER3PE x| B | 5.0 | 5.0 0.00 [-0.25| 171 [-0.25|-0.25
— AR 3PE R | | 5.1 | 5.1 0.25]0.00| O | 0.00] 0.00
— AR 3P| T |4 | 5.0 | 5.0 1.25(-0.75| 164 | 0.00 |-0.50
—AES 3P 2|5 | 5.0 | 5.1 1.00 [-1.00| 171 | 1.00|-1.25
— AR 3PE kA& & | 5.1 | 5.1 3.25|-2.25| 167 | 1.75|-1.25
— AR SPE| Bk | B | 4.9 | 4.9 0.25 [-0.25| 120 | 0.00 [-0.50
— AR BB | 5.1 | 5.0 -1.50(-0.25| 165 | 0.50 |-1.50
—AER IV EIAA | & | 5.0 [ 5.0 1.25|-1.25| 1 |0.25|-0.75
—AER3PE| 4 & | 5.0 | 5.0 -0.50|-1.50| 1 |-0.25|-1.00
— AR TR 4 | 5.1 | 5.0 0.25 [-0.75| 162 | 0.50 [-1.00
—ER 3P| R Mg [ & | 5.0 [ 5.0 1.25(-1.00| 1 | 1.50(-1.00
— AR 3P| ks |5 | 5.0 | 5.0 1.00 |-0.75| 8 | 0.00-0.75
—EH3PE v |B | 5.1 | 5.1 0.00 [ 0.00| 0 |0.75]-0.75
—AENSPE| g | & | 5.0 | 5.0 0.75|-0.25| 98 | 0.00 | 0.00
— RSP | B | 49 | 5.0 1.25(-1.00| 6 | 0.00| 0.00
—AES3YE Fmi |5 | 46 | 45| 5.0 | 5.0 | 0.00|-0.25| 101 [-1.25(-0.75
—AE3PE| Fari| & | 45| 48 | 5.0 | 4.9 | 6.00 |-4.00| 175 | 5.75 | -4.00
— AR 3P| 45 isE % | 5.0 | 5.0 1.50 |-0.50| 145 | 1.25(-0.75
— AR S| RRkW % | 5.1 | 5.0 -0.50(-0.25| 159 [-1.25|-0.75
—AER P 1amERE |5 | 5.0 | 5.0 -0.25(-0.25| 5 |-0.75|-0.25
—AER 3P| 14 % | 5.0 | 5.0 0.25|-0.25| 174 | 0.00 | -0.25
— AR 4| B | 5.1 | 5.1 -0.25(-0.25| 5 |0.75]-0.75
—AER 3P ez | 5.0 | 5.0 1.50 |-0.50| 25 | 1.00 |-0.25
—AER 3P| MpfkZs |4 | 5.0 | 5.0 1.00 |-0.50| 17 | 1.00|-0.75




—EH3PE M4 | & | 5.0 | 5.0 -0.50(-0.25| 154 | 1.00 |-1.00
— RSN 3PE phAE |5 | 5.0 | 5.0 -0.25(-0.25| 91 | 0.00]| 0.00
—AER 3P AR |5 | 5.0 [ 5.0 -0.75|-0.75| 175 | 0.25|-0.50
— AR 3PE| miEW | & | 5.1 | 5.1 0.75[-1.00| 174 | 1.00 |-1.00
— AR S| AEr | & | 4.9 | 4.9 0.00 [ 0.00| 0 | 1.00]|-1.50
—4EN3PE kAt | % | 5.0 | 5.0 -1.00( 0.00| 0 |[0.25]0.00
—AEHNSPEBRIE % | 5.0 | 5.0 1.25|-1.50| 174 | 1.50 |-1.50
—ERSPEMRFE (S | 5.0 [ 5.0 0.50 |-0.75| 165 | 0.75 [-1.00
—ERIP AR E|F | 5.0 [ 5.0 -0.25|-0.25| 97 | 0.75[-1.00
— AR SPE| A |5 | 4.9 | 4.9 1.00 [-1.00| 5 |[0.25]-0.25
—AENSBE kFE &S | 5.0 | 5.0 -2.50(-0.50| 163 [-3.75|-0.25
—4EN3PE E Tt | & | 5.0 | 5.0 0.50 [-0.50| 112 [-0.25| 0.00
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172
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101

158
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161
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101

165

166

167

59

160

172
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152

173

175

175

163

176

161

138
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171

178

168

164

178
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178

170




R | o || AR | 2R AR | ZR | AR | AR | AR | ZR | 2R
% B Wh | Wh | BIE | BIE | aReE | AReE | W | e | B
—ERANES %S | 5.0 | 5.0 -0.25|-0.75| 174 |-0.75|-0.75
—ERAA KIS | 5.1 | 5.1 -0.25[-0.50| 5 | 0.00 | 0.00
—ERAN G EF 5 | 5.0 | 5.0 -0.25(-1.00| 4 | 0.75(-1.25
— AR A S iR & | 49 | 5.0 -0.25|-0.50| 90 | 0.00 |-0.50
—AEFAN x| &L | 5.0 | 5.0 0.25 [ -0.50| 168 |-0.75|-0.25
—AEG A payEe| & | 5.1 | 5.0 -0.50|-0.75| 178 |-0.75|-0.50
—ERAN | & | 5.1 | 5.1 -0.75| 0.00| 0 [-0.75| 0.00
—AER A M| & | 5.1 | 5.1 0.75|-0.50| 150 | 0.25 | 0.00
—AEg A BB | 48 | 5.0 | 5.0 | 5.0 | 0.00|0.00| O |2.75]|-1.50
—AERA ZEyssE| B | 5.0 | 5.0 -0.25|-0.25| 76 |-0.25| 0.00
—AE AP Aspe%| 58 | 4.1 | 41 | 4.5 | 4.2 | 3.25|-0.50| 104 | 3.00 | -1.25
—AERA 24| 5 | 5.0 | 5.0 0.00 | -0.25| 173 | -0.25| 0.00
—ERAN AR E| B | 5.0 | 5.0 0.50 | -0.25| 161 | 0.75 |-0.75
—ERAM Iz 5 | 5.0 | 5.0 0.00 | -0.25| 13 |[-0.50]-0.50
—ERAM zEAR| & | 5.0 | 5.0 -0.25|-0.50| 167 [-0.25(-0.25
—ERAA MRS | 5.0 | 5.0 -0.50|-0.25| 133 [-1.00| 0.00
—ERAAERE| & | 49 | 5.1 -0.25| 0.00| 0 | 0.00 | 0.00
—AERAN EEAC|E | 5.0 | 5.0 0.75|-0.75| 173 | 0.25|-0.75
—ERANEER|H | 5.1 | 5.1 0.50 | -0.50| 175 | 0.75 | -0.75
—ERAM EET| & | 5.0 | 5.0 -0.50|-0.25| 101 [-0.25(-0.25
—ERAN g & | 5.0 | 5.0 -1.25| 0.00| O [ 0.00 |-0.25
—AERA s & | 5.0 | 5.0 -0.25|-0.50| 152 | 1.00 |-1.00
—ERAN BB 5 | 5.0 | 5.0 0.25| 0.00| 0O [-0.25(-0.25
— AR AN Ph2sR| 5B | 4.9 | 5.0 1.25|-1.00| 176 | 1.00 | -0.50
—HERAAERES | 50 | 5.0 0.50 | -0.75| 163 | -0.75|-0.50
—ERAA EYE S | 5.0 | 5.0 0.25|0.00| 0 |0.50]-0.75
—AERA EAER (& | 5.0 | 5.0 -0.25|-0.25| 130 [-0.25| 0.00
—ERANEE |B | 5.0 | 5.0 0.25|-0.25| 39 | 0.25(-0.25
—ERAETEH| S
—ERANGEHE| & | 5.0 | 4.9 1.50 | -0.75| 169 | 1.25|-0.75
—ERAA A% | 5.0 | 5.0 0.75|-1.00| 173 | 0.50 |-1.00
— AR A MRS & | 49 | 49 | 5.0 | 5.0 | 2.00|-1.50| 173 | 2.50 | -1.25
— R AN k| 5B | 5.0 | 5.0 -1.00|-0.50| 176 |-0.50 | -0.50
—ERAA L ERE| & | 5.1 | 5.1 0.50 | -0.50| 176 | 0.50 |-0.50
—ERA xI%| B | 5.0 | 4.5 -0.75[ 0.00| 0 | 0.25(-0.50
—AERAM Bk EF| 58 | 5.0 | 5.0 0.25| 0.00| O | 0.00(-0.25
—ERAM k| & | 5.0 | 5.0 0.75|-0.75| 155 | 0.75 | -0.75




—ER A Bk 5B | 5.1 | 5.1 0.25]-0.50| 6 | 0.00 | 0.00
—ERA k| B | 4.8 | 4.8 0.00 | -0.75| 153 | 0.00 |-0.50
—AEF AP Bk BiE| & | 5.0 | 5.0 1.50 | -0.75| 18 | 1.50 |[-0.75
—ERAP Bk —H| & | 5.0 | 5.0 0.75] 0.00| 0 | 1.75[-0.25
—AEF AP k| & | 5.0 | 5.0 0.00| 0.00| 0O [-0.25(-0.25
—ERAP BB & | 5.0 | 5.0 0.25|-0.50| 174 |-0.25| 0.00
—ERAY R B & | 5.0 | 4.9 1.50 [-1.75| 4 | 1.50|-1.50
—AERAN kW | & | 4.8 | 4.7 | 49 | 49 | 5.00|-2.25| 173 | 2.75 | -2.00
—ERAW EpiE| & | 5.0 | 5.0 0.25 | 0.00| 0 |-0.25| 0.00
—AERAP RB&|% | 5.0 | 5.0 -0.25| 0.00| O [-0.50| 0.00
—AEFAN KB FEE | 5.0 | 5.0 0.50 | -0.50| 74 | 0.75]-0.50
—AERAM k| B | 4.9 | 4.9 0.00 | -0.75| 174 | 0.25 |-0.25
—EFAN 2% B | 5.1 | 5.1 0.00 | -0.50| 7 |-0.50| 0.00
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143

147
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132

167
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161

151
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164

168

161
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151

86

32

177

132
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R | 1k M| AR | 2R | AR | 2R | AR | AR | AR | 2R | 2R

B M | Bh | BFIE | BRIE | BREE | ARGE | B | BREE | BB
— RSP 3B | 5.0 | 5.0 1.25[-0.75| 163 | 1.00 [-1.00
— RSP E e 5B | 4.9 | 5.0 -0.50(-0.50| 153 |-0.25(-0.75
—EERSPH EAEEH B | 4.9 | 4.9 0.25[-0.75| 172 | 1.25|-0.75
—AESYH s % | 4.9 | 5.1 -1.50/ 0.00| 0 | 1.25|-1.00
— AR SYH Biiusl & | 5.0 | 5.0 0.00 [-0.50| 166 | 0.00 |-0.75
—ERSH i RE B | 5.0 | 5.0 1.00 [-1.00| 165 | 1.25[-0.75
— RSP B0 & | 5.0 | 5.0 -0.75|-0.25| 101 | 0.25|-0.50
—ERSHH R B | 5.0 | 5.0 1.25[-1.25| 177 | 1.50 [-1.50
— RSP #n | & | 5.0 | 5.0 -0.25(-0.25| 5 | 0.00([-1.00
—AESPH SR WidE & | 4.5 | 49 | 49 | 5.0 | 1.75|-4.00| 171 | 2.00 |-2.75
—AESPH | & | 4.8 | 4.8 0.25[-0.75| 149 | 0.00 |-0.75
—AESPH s |[#& | 4.8 | 5.0 2.25(-3.25| 179 | 0.75|-1.25
— AR SPH A2 B | 4.9 | 5.0 1.00 [-1.00| 15 | 1.50|-1.25
— RSP B —m 5 | 5.1 | 5.1 -0.50(-0.50| 3 | 0.75(-0.75
—EESHH s & | 5.0 | 5.0 0.50 [-0.50| 100 | 0.25| 0.00
— RSP A B | 4.9 | 4.8 -0.50(-0.75| 8 |-0.50(-0.50
—EESPH e & | 5.0 | 5.0 -1.50( 0.00| 0 | 0.75(-0.50
—AESPH By & | 5.0 | 5.0 0.75[-0.50| 160 | 1.00 |-0.25
— AR SPH #kHH B | 5.0 | 5.0 0.25[-0.75| 169 | 0.50 |-1.00
—AERSYH A 5 | 5.0 | 5.0 0.50 [-0.75| 1 [-0.50{-0.50
— RSP 2 kH 5B | 5.0 | 5.0 0.00 |-0.25| 9 | 0.00|-0.25
— RSP MR B | 5.0 | 5.0 1.50 [-1.00| 167 | 1.25[-1.00
—ESPH M & | 5.0 | 5.0 -1.00(-0.50| 104 |-0.25(-0.25
— RSP P4k 5B | 5.0 | 5.0 0.25[-0.50| 162 | 0.25|-0.25
— AR SHH Xk & | 4.9 | 5.0 1.50 [-1.50| 4 | 0.75(-1.00
—ERSH a5 | 5.0 | 5.0 0.25[0.00| 0 |[0.75|-0.25
—EESHH e & | 4.9 | 4.9 0.50 [-1.25| 164 | 0.75|-1.00
— AR SPH = if| 4 | 5.0 | 5.0 0.75[-0.50| 155 | 0.75| 0.00
—ESHH /N & | 4.9 | 5.0 1.25[-1.25| 174 | 1.25[-1.25
— ARSI g & | 4.9 | 4.9 0.75[-1.00| 94 |[-1.75|-0.50
—ERSP g — /B | 5.0 | 5.0 0.25|-0.25| 61 | 0.00|-0.50
— RS g%« | 5.0 [ 5.0 1.00 |-0.75| 175 | 1.50 [-1.00
—EERSYH R R| B | 4.6 | 4.6 -1.25(-0.25| 147 |-1.25[-0.50
—AESPH EB2d B | 5.0 | 5.0 0.75[-0.75| 177 |-0.50{-0.25
—AERSPH EM—{%& | 5.1 | 5.0 1.00 [-0.75| 157 | 0.00 [-0.75
—AERSH| ETE & | 5.0 | 5.0 0.75[-1.00] 2 |0.75|-0.75
— AR SPH R 4 | 4.9 | 5.0 0.75[-1.25| 179 | 0.75|-0.75




—AESRSHH Vrakik| B | 5.0 | 5.0 0.25|-0.50 21 | 0.25| 0.00
— AR SH et & | 5.0 | 5.0 0.25(-0.25| 7 |0.25(-0.25
—ERSYH B 5 5% | 5.0 | 5.0 1.50 |-1.25| 177 | 2.00 |-2.25
—AERSYH kP % | 5.0 | 5.0 0.25|-0.25| 93 | 0.00 [-0.25
—4ERSH sk — % | 5.0 | 5.0 0.75|-0.50| 2 | 0.50 [-0.50
—AERSHY ok ek B | 4.6 | 4.7 -0.25|-0.75| 7 | 0.00|-0.75
—ERSYH kR4 % | 5.0 | 5.0 0.00 |-0.25| 156 | 0.00 [-0.25
— RSPk EF B | 5.0 | 5.0 -0.75|-0.50| 10 |-0.25|-0.50
— AR SYH B 5B | 5.0 | 5.0 0.75|-0.75| 176 | 0.25|-0.25
—ERSYH & |& | 5.0 | 5.0 -0.25|-0.50| 165 | 0.00 [-0.50
— RSP R 5B | 5.0 | 5.0 0.00|0.00| 0 [-0.25[-0.25
—AENSHH RS % | 5.0 | 5.0 0.00 [-0.25| 108 | 0.00 |-0.25
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EEUIG | g || AR ZR | AR | ZR | AR AR ARG ZR | ZR
—AE6P 35| %B | 5.0 | 5.0 -0.75| -0.75| 7 |[-0.50(-0.25
— RO Btk &% | 5.0 | 5.0 0.25|-0.25| 156 | 0.00 |-0.75
—AEBOPHJEAME B | 49| 49| 49 | 49 | 2.75|-1.75| 174 | 5.00 |-2.00
— RO FH2244 5B | 4.9 | 5.0 -1.50| -1.75| 1 |[1.25(-1.75
— RO iM% | 5.0 | 5.0 1.25|-0.75| 19 | 1.25(-0.75
—ER6PH#FEZH S | 5.0 | 5.0 1.50 | -1.50| 172 | 2.00|-1.25
— RO W & | 5.0 | 5.0 0.75|-0.50| 10 | 0.50(-0.25
— AR O Fiki & | 5.0 | 5.0 0.75|-0.50| 148 | 0.25|0.00
— RO Biksikl & | 5.0 | 5.0 0.50 [ -0.50| 97 | 0.00|-0.50
—AE 6P A 2 5 | 5.0 | 5.0 -0.50| -0.75| 82 |[0.75(-0.75
— RO 2445 5B | 5.0 | 5.0 0.25|-0.25| 4 |0.75(-0.75
—EROH 2k 45 5B | 5.0 | 5.0 0.50 [ -0.25| 3 |0.00]-0.25
— AR 6P 3R % | 5.0 | 5.0 1.00 | -1.00| 176 | 1.25(-1.25
— RO Al B | 5.0 | 4.9 0.75|-0.75| 173 | 1.25(-1.25
— RO XN % | 5.1 | 5.1 -4.00| -0.25| 16 [-4.25(-0.25
— AR 6 N Fi#E % | 5.0 | 5.0 0.75|-0.25| 167 | 1.00 |-0.50
— RO E 2R %« | 5.0 | 5.0 1.00 | -0.25| 94 | 1.25(-0.75
—4ER6PH W1 B | 5.0 | 5.0 1.00 | -0.75| 167 | 0.75|-1.00
—EROPH BRI S | 49 | 5.0 1.00 [ -0.50| 175 | 1.00 |-0.25
— RO ek %« | 5.0 | 5.0 -1.50| 0.00 | 0O [ 0.50(-0.50
— RO e B | 5.1 | 5.1 1.25|-0.50| 139 | 0.75|-0.25
—AEROBH RFH % | 5.0 | 5.0 -1.25| -0.25| 163 | 1.00 [-1.00
— AR OHH G & | 5.1 | 5.1 1.50 | -0.75| 154 | 1.50 [-0.50
—FERoHHRE [ | 5.0 ] 5.0 1.00 | -0.75| 177 [-1.00(-0.50
— RO #h B4 | 5.0 | 5.0 1.50 | -0.50| 16 | 1.50-0.75
—AEROPIERRE | 5.0 | 5.0 1.00|-0.50| 4 | 1.00(-0.75
— RO S 5B | 5.1 | 5.1 0.00 | -0.75| 156 | 0.50 |-0.50
—EROPH FiA| & | 49 | 4.9 0.25|-1.25| 177 | 0.00|0.00
—AEHOPH ERA| & | 5.0 | 5.0 0.25|-0.75| 5 |0.75(-0.75
—AEROHH Foz(|5B | 4.9 | 5.0 -0.75| -0.75| 9 [-0.75[-0.50
—AERO6PH R FH 4 | 5.0 | 5.0 0.50 [ -0.50 | 148 | 0.00 | 0.00
— RO Wtk & | 5.0 | 5.0 0.50 [ -0.25| 153 | 0.00 | 0.00
— RO vk B | 5.1 | 5.1 0.75|-0.75| 171 | 0.75[-0.75
— AR O Bt 5B | 5.1 | 5.1 0.25| 0.00 | 0 |-0.50(-0.25
— AR 6T | B | 49 | 48| 49 | 49 |0.00| 000| O | 1.00/-5.50
—AE O = % | 4.9 | 4.9 0.25[-0.50| 172 | 0.25|-1.00
—AEROYH wIEIE 5 | 5.0 | 5.0 0.75(-0.50| 4 | 1.25](-0.75
— RO —yR % | 5.0 | 5.0 1.00 [ -0.50| 178 | 0.25|-0.25




—AEROIY 5458 | 5.0 | 5.0 -1.75(-0.50 | 169 | 0.25|-0.50
—AER O Bkl 5 | 5.0 | 5.0 0.00 | 0.00 0 |0.00]|-0.75
—FERO6P sk B[ 55 | 5.0 | 5.0 0.25|-0.50| 17 | 0.25(-0.25
—AESR O Bk i 5B | 5.0 | 5.0 1.00 [ -0.25| 30 | 1.00[-0.75
—AEROPY Bk kil & | 4.9 | 4.9 1.00 | -1.25| 178 |-1.00(-1.00
—AER O akkEzE BB | 4.9 | 5.0 0.25| 0.00 0 | 1.00|-0.50
—AEROP =24 | 5.0 | 5.0 0.00 | -0.25| 163 |-0.25(-0.50
—AESR O B 5 | 5.0 | 4.9 1.50 | -0.75| 175 | 1.75|-1.00
—AER O ik 4 | 5.1 | 5.0 -1.75| 0.00 0 [-1.00]-0.50
—AEROP kBt (& | 5.1 | 5.1 0.50 | -1.75| 4 | 1.25(-1.75
—AESR O 4 ikl & | 5.1 | 5.1 0.75|-0.75| 175 | 0.50 [-0.50
—AEROH Rk H 5 | 5.0 | 5.0 1.00 [ -0.50 | 172 | 1.00 [-0.50
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e | AR | 22 | AR MR g | g | AR | e | e | 2
IR BE | g o |y | SPIE | P | s | b | 900 | v | gy |
=4I Em| 4 | 4.9 ] 4.9 “1.50[0.00] 0 [-1.50/-0.50] 157
—AER 1P E R4 | 5.0 | 5.0 0.25(-0.25| 152 [0.00(-0.25( 168
=4 1B sl & | 5.1 5.1 0.00[-1.00] 171 [1.25]-1.50] 167
—4pg LB i) B | 4.8 | 4.9 -0.75]-0.25] 144 [-0.25/-0.25] 19
—AER 1P k|5 | 5.0 5.0 -0.50]-0.50| 156 |-1.00}-0.75| 174
=gginmgls | 49 4.9 0.50[-1.00] 174 [1.00]-1.50] 177
=HERIIH NLZsfk| % | 5.0 | 5.0 0.50(-0.50f 1 |[0.00(-0.50| 167
=ZHRIPH M % | 5.0 5.0 0.00|-0.25| 26 |1.25[-1.00] 170
=qgizRRE [ 50] 5.0 0.75]-0.75 160 [ 1.00[-0.50] 178
=12k [ 5.0] 5.0 1.75/-1.25) 175 ] 1.75]-1.00] 178
—AER 1P #4484 | 5.0 | 5.0 0.25(-0.50f 160 | 1.50(-1.25| 165
SR AR |4 | 4.8 | 4.9 -2.00]-0.75] 156 |-3.50[-1.25] 3
=41 vk ak| % | 5.1 ] 5.1 0.75/0.00] 0 [-0.75/-0.25] 74
SEFIINE— (%S | 5.0 5.0 0.25(-0.50f 163 [-0.75[-0.25 171
=419 x| | 5.0 5.0 -0.251-0.25] 7 [0.00][0.00] ©
“HERBIXImE| % | 5.0 | 5.0 -0.50|-1.00f 4 |0.25|-1.50| 175
—AERIPH B |5 | 5.0 5.0 0.75[-0.25( 7 [0.75[-0.25 158
AP L ALl | 4.8 | 5.0 -0.25/-0.25 144 [0.75]-1.00] 155
AR B EE B | 5.1 5.1 0.00[-0.50 151 [0.00[-0.50] 8
=R E Y| 4 | 4.8 | 4.9 ~0.75-0.75| 164 [-0.25-0.50] 169
SHEBIPNERF| L | 5.0 | 5.0 -0.50]-0.75| 157 |-1.00]-0.50] 152
=gy | 4.8 ] 4.9 3.00[-3.00] 179 [1.75]-2.00] 175
= 19 ttak] 4 | 5.0 | 4.9 0.00[-0.50| 2 [-1.00l-0.25 5
=g T B | 5.0 ] 4.0 -0.50]-0.75 119 |-0.50[-0.25] 96
=i |% [ 5.0] 5.0 “1.25-1.00] 171 [-0.75|-1.00] 171
=g 1pppens | 5.1 5.1 0.00]-0.235| 140 [-0.251-0.25] 110
MBI ES TR | | 49| 4.9 -0.25]-0.25| 161 |0.25]-0.50| 142
=g 1P g % | 5.0 5.0 1.00[-1.25] 5 [0.75]-0.50] 143
=R 1 g % | 5.0 | 5.0 1.00]-1.00] 4 [1.00]-1.00] 162
=19 izl s [ 5.1 ] 5.1 0.25-0.25 167 [0.00[-0.50] 171
=g 190 Freip| B | 4.8 ] 4.9 -1.00[0.00] 0 [-0.75[0.00] 0
SRR Erik(S | 49 (5.0 0.00(-0.25| 145 {0.00({0.00| O
=19 B | 5.0] 5.0 -0.25/-1.00] 2 [0.50[-1.50] 0
=gl | 4.9 ] 4.9 1.25[-2.00 171 [ 1.50]-2.25] 176
=g gl | 4.8 4.8 -0.25]-0.50] 167 ]-0.25[-0.75 5
=19 vessel s | 5.0] 5.0 0.00]-0.25] 101 [0.00[-0.50] 176
=19 &R % | 5.0 5.0 0.00[-0.75 177]0.50]-1.00] 174




=AER I AREE|B | 5.1 | 5.1 0.00(-0.50, 11 [0.00|-0.75| 177
AR PR A4 | 5.1 5.1 0.25|-0.75 172 1.00|-1.25 169
SRR ARl | 4.7 | 4.5| 5.0 | 4.9 |-1.50/-3.75| 174 |-1.25/-4.25 O
SARSRIPH |4 | 4.7 | 4.8 -3.00/-0.25| 1 |-1.25/-0.50| 158
AR PR 4[58 | 4.8 5.0 -1.00|-0.75| 159 |0.25|-1.00| 174
=AERIP R |3 [ 5.0]50 0.25(-0.25 0 |[0.25[-0.50| 171
AR LU | B | 4.9 | 4.8 0.75|-2.25 4 |1.25|-3.00 0O
=HRIPRE |B | 50]50 0.25/-0.25( 3 [0.00(-0.25 53
AR PR k|4 | 5.0 4.8 0.25(-1.25| 178 |-0.25|-1.25 2
AR PR B4R SE 5B | 5.0 | 5.0 1.00(-1.00| 170 | 1.25(-1.25| 165




RIS | 14 li f% %EHE AR | AR | AR | AR | AR | ZR| 2R | ZR
—ARR2WE | Bl % | 5.0 [ 5.0 -0.25]-0.50| 145]0.50]-0.50| 176
=4pgpopr i | 5.0 | 5.0 0.50]-1.25] 2 [1.25[-1.25 178
=42V | ikl & | 4.9 | 5.0 0.00]-0.25 155]0.75[-0.25] 91

=RV | g B | 5.0 | 5.0 -1.00[-0.50] 161 |-1.00-0.75] 171
ARO[ R EE 5 | 5.0 | 5.0 0.00{0.00] O |1.25]-1.00] 160
=42 s B | 5.0 5.0 -0.25-0.25| 160 [-0.25]-0.50] 170
—ARR2PE |YEFE| & | 5.0 [ 5.0 -0.75]-0.75| 162 10.00]-1.00] 170
=AEIR2PE |2 4 | 5.0 | 5.0 2.50]-0.50] 166 [ 1.00|-0.75[ 6

AR |54 5 | 5.0 | 5.0 0.50]-0.50] 173 ]0.25|-0.75| 168
=42 | M B | 5.0 | 5.0 -0.25-0.50] 166 |0.25-0.75] 162
AR 23 | #ARRAL 5 | 5.0 | 5.0 0.00]-0.25] 170 ]0.25]-0.25] 176
=g [HEn e | 5.0 5.0 0.50]-0.75] 160 {0.25[-0.75] 170
—ARR2YE | 44085 | 5.1 [ 5.0 0.501]-1.25] 165|0.75|-1.50| 176
=g |24 | 5.1 | 5.1 -1.50[0.00] 0 [-0.75-0.50] 160
=4pgRoE |22 & | 5.0 | 5.0 1.25]-1.25 163 [0.75[-0.75| 163
AR | A 5 | 5.0 | 4.8 -0.25]-0.50| 142 |-0.75]-0.50| 173
=gt szl & | 5.0] 4.9 5.0 5.0[0.50]-1.25] 4 [1.50[-2.25] 7

AR | MM & | 5.1 ] 5.1 -0.25]-0.25| 105]0.00{0.00( O

=g | Xkl & | 5.0 | 5.0 -0.75-0.25| 145 [-0.75-0.50| 165
AR 2R | Mg 4 | 5.0 | 5.0 0.00]-0.50] 159 [0.00(-0.50f 159
AR | B w4 | 5.0 | 5.0 1.25(-1.00[ 171 [ 1.00(-1.50] 11
=42 | B | 5.0 | 5.0 0.50[-0.50 2 [1.00{-1.50 176
=4Esgodr ezl | 4.7 | 4.8 -1.25-0.50| 149 |-1.00[-0.75| 165
=SR2 | A4k 5 | 5.0 | 5.0 0.25]-0.75] 5 [0.50(-0.75[ 171
=4EgR2VE | e & | 4.8 | 4.9 -0.75-0.50| 153 |-0.50]-0.50] 169
SAEH2PE | R |5 [ 5.0]5.0 0.00]-0.50] 18 |0.00]-0.25] 150
=AER2PE | A 55 | 5.0 | 5.0 -0.50]-0.25] 129 |0.00]-0.25] 175
=gt | 7her| & | 5.0 | 5.0 1.25[-0.25] 99 [1.25[-0.25| 104
=40t |7 | | 4.4 | 5.0 -3.00]-0.25] 76 [1.00[-0.75 175
=SR2V | IR 5 | 5.0 | 5.0 -1.00]-1.75| 151 |-0.50]-1.50| 113
=spgodf | 2w & | 5.0 | 5.0 1.00[-0.75| 161 | 1.00]-1.235| 161
—AER2PE|F)R [B | 5.0 5.0 0.25/0.00] O [0.00(-0.75[ 171
=AER2PE | B 5 | 5.1 ] 5.1 1.00(-0.75[ 150 [ 1.00(-0.75[ 155
=AY | AR

=g | amE & | 5.1 5.1 -0.50]-0.50] 30 [-0.75-0.50] 157
=42V | el & | 5.0 | 5.0 1.00]-1.25] 78 [0.25[-0.75] 95
=ARSROVE | g Rl 58 | 5.0 | 5.0 0.00]-0.75| 174 [-0.25[-1.00] 3

AR Mk &k | 4.9 | 4.9 -1.25/-0.25| 138 |-1.25[{0.00( O




=4Ok [ppenal B | 4.4 | 4.4 | 47| a7

=R M4 & | 5.0 4.5 -1.50|-0.50| 166 |-1.75/-0.25| 13
=AEROHE ke B | 5.0 | 5.0 -0.50|-0.75| 173 |0.00{-1.25 1

=4O | Frm & | 5.0 5.0 0.25(-0.25| 130 [0.00[-0.25| 160
SARSROVE | | B | 4.7 | 4.8 -0.75/-0.50| 176 |-0.75|-0.75| 174
=AEROHE 2okl & | 4.9 | 4.0 -0.75/-0.50| 175 |-0.50/-0.25| 161
ARSI | o gpE| B | 4.7 | 4.8 -1.50-0.75] 8 |-1.50/-0.50| 167
=AEROHE | pkpt % | 5.0 | 5.0 -0.75/0.00| 0 |-0.25/-0.25/ 13
=4EgHE (e [B | 5.0 5.0 0.00(-0.50| 174 [0.00|0.00| ©

ARV | el & | 4.9 | 4.9 -1.25-1.50| 174 |-2.50]-1.25| 176
=AM | 4B | 5.0 | 5.0 0.00(-0.25| 153 [0.00[-0.50 29




WP | 1% ﬁ. f? %E?E AR | ZR | AR | AR | AR | 2R | 2R | 2R
“AENSHE AW & | 4.7 | 4.6 -2.25(0.00| 0 |-2.25/0.00] ©
=AERIPE A 4 | 5.2 | 5.2 -0.25/-0.25| 173 | 0.50|-0.50| 179
SAERIPE x| P & | 4.3] 4.6 | 5.0 4.9 |-3.25/-0.75] 3 |-2.50]-1.00| 159
SAERIPE R & | 49| 4.7 | 4.9 4.9 |-0.75-2.50 171]3.50|-3.50, 6
AR 3P i fEAn & | 5.1 | 5.1 0.00(-0.50 8 |0.00|-0.75| 167
=4RSP il % | 5.2 | 5.1 0.25/0.00] 0 |0.25/0.00| O
=AY MR % | 5.1 | 5.1 -0.75/-0.50| 173]0.00(-1.00| 172
AR 3PE Dty & | 5.1 [ 5.1 -0.50[-0.25| 162 |0.25|0.00| 0
=AER3PE B & [ 5.1 [ 5.1 0.50(-2.00| 166 |-0.50|-1.50| 174
SAEGSPE FEM & | 5.1 | 5.1 -0.50]-0.50] 158 | 0.50|-1.00| 171
AR 3PE A & | 5.1 [ 5.1 0.50(-1.00| 163 |0.50|-0.75| 167
AR IPE| A 4 | 4.5 ] 4.8 | 4.9 | 5.0 [-1.50/-0.75| 164 |-0.75/-0.50] 162
SAERSPE x#E %« | 4.3 4.1 | 5.0 | 4.9 |-2.75/-0.25 175 |-2.00]-1.00| 160
=4I PE sEEE 4 | 5.2 | 5.2 0.00/0.00| 0 |0.75|-1.00| 164
=AERIPE P A & | 5.1 [ 5.0 0.75|-0.75 173]0.50|-0.50| 10
AR B % | 5.1 | 5.0 -0.25[-1.00| 165 |-0.50[-0.75] 7
=4RSP k| 4 | 5.2 | 5.1 -1.75-1.25| 175 |-2.00/-1.50| 161
SAERIPE B & [ 5.1 [ 5.1 -0.50-1.25] 8 |-0.50|-1.25| 176
ARG IPE| s & | 5.1 [ 5.1 -0.25[-1.50| 177]0.25|-1.50 3
=AERSPE g % | 5.0 | 5.0 -0.25/-1.00] 168 | 0.00|-1.25| 166
SAEROPE & | 5.1 5.1 1.50(-1.75| 158 |1.50]-1.50| 179
SAEGSPE Fabi & | 5.1 | 5.1 1.25|-1.25/ 173 |-0.25/-0.50| 158
=AER3PE B | 4.9 | 4.9 -1.00[-1.00] 13 |-0.75/-1.25| 175
=AER3PHE TR [ 5.1 5.1 -0.75/-1.25| 177 |0.25|-1.50| 170
SAERSPE Wik % | 5.1 | 5.1 0.25[-0.25| 168 | 0.00(-0.50| 164
=AERIPE| A% [ 5.0 [ 4.9 0.50(-1.00| 11 |-0.75/-1.00| 169
=AERIPE B | 5.2 [ 5.2 0.25(-0.25 1490.25/0.00| 0
ARG 3PE i i 5B | 4.3 | 4.9 -2.25/-0.50| 167 |0.00(-0.50| 172
SAERSPE X ERY % | 4.9 | 5.1 -0.75/-0.50| 169 | 0.25|-0.75| 165
SAEGSPE AR (B ] 49| 4.9 -0.50]-0.75| 171 |-0.50/-0.75| 177
SARRIPE| FArp B | 4.9 | 4.8 -0.50]-0.50| 165 |-1.00|-0.25| 164
=AER3PE AR E | 5.1 [ 5.1 0.25(-0.75| 161 0.50|-0.50| 166
AR 3PE M B | 5.0 [ 5.1 -0.50]-0.25| 175|0.25|-1.00| 172
=AERSPE A B | 4.9 | 5.0 -0.50]-0.50| 173 |-0.75|-0.25| 152
%3P WK [H | S5.1]5.1 -0.75|-0.50| 174 |-0.25|-0.75| 170
SAERSPE e % | 5.2 | 5.0 -0.75/0.00| 0 |-1.00/-0.25| 171
SARSPE F e % | 4.6 | 4.7 | 5.0 | 5.0 |-3.25/-1.50 171 |-3.00[-0.25| 175
SAERIPE B R B | 5.1 5.1 0.00(-0.25] 18 |0.75|-0.50| 151




SARSESPH ey | 5.1 5.1 -0.25(-1.00| 153 |0.25(-0.75| 166
=4EsR 39 ez B | 5.0 | 5.0 -0.25-0.75| 174 |0.00[-0.50] 174
AR 3E sk R| B | 5.1 | 4.9 -0.25/0.00| 0 [-0.50-0.50] 167
AR 3PE F e B | 5.1 | 5.1 -1.25-0.50| 174 |-1.25-0.75| 164
4R 3P 2 B | 5.1 | 5.1 -0.25-0.75 172 0.00[-0.75] 1
=4 3YE B B | 5.1 | 5.0 1.25|-1.00| 165 | 1.50(-1.50| 177
=AES3PE THkIE B | 5.1 | 5.1 -1.75{0.00| 0 [-2.75-0.25 148
=4E5 3 g4 B | 5.1 | 5.1 1.00[-0.75 171 [ 1.25[-1.00| 167
=439 3 | % | 5.0 | 5.0 -0.25{0.00| 0 [-0.25/-0.75| 169




oy | ey | AR ER AR | ZEHR | g | AR | AR | 2R | A | 2R
B | By | By | BIE | SFIE | BReg | dks | B0 | e | mg | B
—AERAPE R [ | 5.2 5.1 0.00}-0.25 172|0.00}-0.25 171
SAERAPE| e % | 5.1 5.1 0.00}-0.25 158|0.75}-0.75 157
AR APE| R RE| % | 5.0 5.0 1.00}-1.00 170|0.00}-0.79 1
SARRAVE| k| B | 5.0 4.8 0.00}-0.75 159 -0.50-0.50 4
ZARRAPE| Bt & | 4.6 | 4.9 -0.790.00[ 0 }0.50-0.50 165
SAERAVE| R |%& | 42| 4.2 5.0| 4.9 -3.00-0.7H 153}-3.50-0.79 155
SARRAPE| T4E22 % | 5.1 5.1 -0.75-0.79 164 |-1.00-0.50 165
SAERAVE x| B | 4.1 4.1 -4.50-1.00 170|-4.25-1.25 165
AR APE| k| & | 5.2 5.2 -0.75-0.79 171}-0.75-0.75 162
SARRAPE| R % | 5.1 5.1 -0.250.00[ 0 |0.25}-0.75 142
=AERABE HIR |9 | 4.3] 4.6 -2.00-0.50 178}1.50-0.25 155
R4V e |% | 5.0 5.0 -0.25-0.25 178|0.00/-0.79 2
SAERAPE| B E | & | 4.9 4.9 0.75}-3.29 175|0.50}-2.25 175
AR AV Bk sE| 4 | 5.1 5.0 -0.25-1.50 7 |0.50}-1.50 176
=ARRABE|E w8 | 5.1 5.1 0.251-1.00 1 |1.25-1.50 177
SAERAPE EEm| B | 5.1 5.1 -0.25-0.25 158}-0.50-0.25 175
ZURRAE| A4 |5 | 4.4 5.1 -1.75-0.79 157|0.00}-0.79 168
AR APE| X B4R & | 5.1 5.2 -0.250.00[ 0 }-0.75-0.25 149
SAERAPE| x| B | 5.2 5.2 0.00}-0.50 6 |-0.25-0.50| 170
ZARRAVE| R |5 | 4.9 4.9 -0.25-1.00/ 172|0.50}-1.25 171
ZARRAPE| AR yEsR| 5 | 5.1 5.1 1.00/-1.00 1681.00}-0.75 171
AR APE| mocEr| B | 5.0 5.0 0.50}-1.00 1 |0.50}-1.00 2
SAERAPE| K| B | 5.1 5.1 -1.25-0.25 149|0.00}-0.25 157
=AERABE| G| | 5.1 5.1 -0.5000.00[ 0 |-0.25-0.25 14
SARRAE| HEi | & | 4.9 4.9 0.00}-0.50| 1520.00}-0.50| 155
SARGAPE| 7|58 | 5.0 5.1 -4.00-0.25 158}-2.23-1.25 176
SARGAVE| o5 | 5.1 4.8 -7.75-0.25 125}-4.00-0.50| 164
AR AV pETE| & | 5.1 5.1 0.25}-0.25 159|1.25}-1.25 163
AR AVE| R4 | 4.7 | 5.0 -0.50-0.50 166 |0.75}-1.00 148
—AERAYE HE (B | 5.1]5.0 0.00}-1.00 165-0.25-0.75 167
SAERAYE E S & | 4.2 4.6 -1.50-0.25 144 -1.000.00| 0
SAEBAPE|FERL |%& | 4.0 4.0 5.0 4.9 |-2.25-0.50 133}2.50-0.50 171
SAEGAVE| FREA | | 4.4 4.4 -2.25-0.25 130}-2.500.00[ 0
SAERAPE| B 2% | 5.1 5.1 0.25-0.25 163|0.25/-0.25 162
SAERAPE| R M| & | 5.0 5.1 0.25-0.79 4 |0.25}-0.79 171
AR APE| 451l B | 5.2 5.0 0.75}-1.25 169|0.50}-1.25 173
SAERAVE| 15434 | 4.5] 4.6 -2.00-1.00 162 }-2.25-1.00 172




AR APE| Ay | & [ 5.1 5.1 0.00}-0.50 165/0.00}-0.79 159
=43 mis |® [ 5.0] 4.9 1.25-1.25 174 [0.25-0.75 32
SR A |3 | 48] 4.9 -0.501-0.50 162[0.25[-1.00 159
=4 adE g & | 5.1 5.1 1.00}-1.00 165[0.25-1.00 3
= APE e B | 4.5] 4.6 -3.00-0.75 145|-3.25-0.5( 171
SAERABE & (B | 49]5.0 1.00}-1.00 173[0.00[-0.25 101
AR APE gkskm| B [ 5.1 5.1 0.25-0.50 151/0.50}-0.50 4
=g api|eeasat| & | 4.6 4.6 4.9]4.9)1.00-1.00 171}0.50-1.50 168
=amayin (B | 4.7] 4.7 0.00|-2.50 176 [-0.50-2.50 175
AR APE| Bk & [ 5.1] 5.1 0.001-0.29 9 [0.25|-1.00 167
=g apt E a8 | 5.0 4.9 0.50-1.25 3 [1.25}-2.00 8




R | g || AR Z_'EHE AR | 2R | AR | AR | AR | 2R | 2R
SAERSHE AR B | 42 | 4.2 | 4.8 | 4.7 |-2.75]|-0.50| 161 |-2.75|-1.50
ZAEGSYE ik & | 46 | 43| 5.1 | 5.1 |-1.50[-0.25| 165 |-1.50(-0.75
SARSPH BB 5B | 5.2 | 5.2 -1.00[-0.50| 167 |-0.75|-0.75
SARSPH LA 5| 4.9 | 5.1 1.75(-1.50 3 |0.25(-0.75
=AERSHE Tl & | 5.1 | 5.1 -0.75|-0.75| 164 |-0.50|-0.25
ZARRSHE By & | 5.1 | 5.1 -0.25(-0.25| 158 | 0.00 |-0.50
=4RSP Z4E18 & | 5.0 | 4.9 -0.50(-1.00| 172 |-0.25|-1.75
=AERSHH A B | 52 | 5.2 0.25[-0.25| 162 | 0.50 |-0.25
RSP MR R T | 5.1 [ 5.2 -0.25(-0.25| 87 | 0.25(-0.25
AR SPH # R & | 5.1 | 5.0 -0.25(-0.75| 173 |-1.25|-0.50
SRS 4255k 4| 4.5 | 4.4 | 4.8 | 4.7 |-2.25[-0.75| 171 [-2.25(-1.00
SRS BeEw & | 4.2 | 4.3 | 4.9 | 4.9 |-2.75[-0.75| 161 [-2.75(-1.00
SARSPH AR5 | 4.8 | 5.1 3.50 [-1.50| 176 | 3.00 |-2.00
SRS B H | 5.2 | 5.2 0.00 [-0.25| 163 | 0.50 |-0.50
SRS 2R & | 4.7 | 5.0 | 49 | 5.1 | 2.00(-0.25[ 170 | 1.50 [-1.50
SARSPH Al 4| 5.1 | 5.1 -0.50[-0.50| 5 |-1.00|-1.00
AR SHE ARk & | 5.1 | 5.1 0.00 | 0.00| O |0.00]|-0.25
=4RSP M r| & | 5.1 | 5.1 -0.50/ 0.00| 0 |0.00[-0.25
AR SPH s 5 | 5.1 | 5.1 0.50 [-1.00| 164 | 0.75|-1.50
AR SPE EFRG| 5B | 5.1 | 5.0 -2.00(-0.25| 163 |-0.75|-1.00
ZARRSHE ey 4| 4.8 | 4.8 -2.00[-0.25| 160 |-2.00|-0.25
ZAERSHH A & | 4.6 | 4.9 -1.25/0.00| 0 |0.00[-0.50
SRS w5 | 5.0 | 5.0 -0.75(-0.25| 76 | 0.00|-0.75
SARSPH st 5B | 5.2 | 5.1 0.00 | 0.00| O |0.00][-0.75
SARSPH A 5 | 5.2 | 5.1 0.25[-1.25| 173 |-0.25|-1.00
SAERRSHE AR B | 4.9 | 4.6 -1.50/ 0.00| 0 |[-1.25]/-0.25
SAESYHE A 4| 49 | 49 | 5.0 | 5.0 |-0.50(-1.25| 175 | 2.00 [-2.00
SAERSHE Eisg B 49 | 4.7 -0.75(-1.25| 176 [-1.00|-1.00
=AELSPH 4% S| 5.1 | 5.0 -0.25(-0.50| 170 | 0.50 |-0.50
RSP FEH (K| 52 | 5.2 -0.25(-0.50| 173 | 0.25|-0.50
=AEHSHH FIH B | 5.1 | 5.1 0.25[-0.50| 164 | 0.00 |-0.75
=FERSH FFERH| 4.8 | 4.8 -0.25(-0.75| 4 |-0.25|-1.25
SARRSHH E B | 4.7 | 4.7 -1.00[-1.00| 164 |-1.00|-1.25
SERSH TR B | 4.7 | 4.7 -2.00|-0.75| 166 |-2.50(-0.50
A SPE FAeKI & | 5.2 | 5.1 0.25|-1.75| 169 |-0.25(-1.75
SARSPH B 78 % | 5.0 | 5.1 0.25[-0.75| 177 |-0.25|-1.00
SARSPH Ak 4| 5.1 | 5.1 0.25[-0.50| 166 | 0.25|-0.75
SARRSHE Vraks B | 5.1 | 4.8 -1.50(-0.50| 172 [-1.50|-0.75




=4S BT ®E | 5.1 | 5.1 | 5.1 | 5.1 |[0.25(-1.00] 1 |[0.25[-2.00
=SS S | &| 4.9 | 4.8 -1.50[-0.50| 154 |-1.75[-1.00
=4Eg5PE kel & | 4.0 | 4.1 | 4.6 | 4.5 [-2.75]-0.75| 147 [-3.00[-0.75
=4S skkere| B | 4.9 | 4.8 -0.25(-0.50| 142 |-0.75[-0.50
=AEGSPE TR | 4.2 | 4.3 | 4.9 | 4.9 [-2.50[-0.75| 165 [-2.25|-1.25
=4RSP mmm|E | 46 | 4.6 | 4.9 | 4.9 |-2.00]-0.50| 151 [-2.25[-0.25
=4S ke e | 4.9 | 4.9 -1.75[-1.25| 1 |0.50(-1.50
=AEgSHE s ER B | 5.0 | 5.1 -0.50[-0.50| 177 | 0.00 [-0.75
=4S E K] E | 5.0 | 5.1 0.25|-1.00| 151 | 0.50 [-0.75
ZAERSHH Bk B 5.1 | 5.2 0.25(-0.25| 13 |0.75]-0.75
=4SP kR B | 5.2 | 5.2 0.25|-0.50| 159 | 0.50 [-1.25
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ERPG | ng | | AR éEHE AR | 2R | AR | AR | AR | 2R | ZR
4RO R E S | 5.1 | 5.1 0.25(-0.50| 5 [-0.25|-0.75
ZARGOPE (R |5 | 4.5 | 4.4 -2.00(-0.50| 173 |-2.25|-0.50
SARLROPE | S | 5.1 | 5.2 0.00 |-0.25| 28 | 0.50 |-0.25
=AEROPE AL E S | 5.1 | 5.1 -0.75|-0.50| 172 |-0.75|-0.75
ZARSROPE |JiHE 4 | 5.1 | 5.1 -0.75(-0.75| 3 | 0.00|-1.25
SAEBOYE |k | 44 | 46 | 4.8 | 4.8 |-3.75(-1.00| 169 |-3.50|-0.50
=4EOPE | B E % | 5.1 | 5.1 0.75|-0.75| 171 | 0.25|-0.50
=AEOPE (R |B | 49 | 5.1 0.00 [-1.25| 172 | 0.25|-1.25
ZARJOYE [k |5 | 52 | 5.1 0.00 |-0.50| 53 | 0.25-0.50
=ARROPE |y | 4.9 | 4.9 -0.75|-0.50| 135 |-0.75|-0.25
=AR6PE | sE E %L | 5.2 | 5.2 -1.25(-0.25| 21 |[-0.25|-0.50
=4EIR6YE | 4 | 4.7 | 4.7 -1.75/ 0.00| 0 [-1.75| 0.00
ZARROPE | MG E | 4.7 | 4.5 -1.00|-0.25| 171 |{-1.50{-1.00
ZARSROPE [ 4kr 4 | 4.8 | 4.9 -1.25(0.00| 0 [-1.00|-0.75
ARO[ FEw S | 5.1 | 5.1 0.00 |-0.75| 173 | 0.25|-1.00
ROV | ZfE B | 4.7 | 48 | 5.0 | 5.1 | 1.50(-3.75| 1 | 2.00|-4.50
=ARGOPE [ WFs |38 | 5.1 | 5.0 -0.50(-0.25| 101 | 0.25(-0.25
ARG OPE [ Mk & | 5.1 | 5.0 0.50 |-1.00| 170 | 0.75|-2.50
=ARR6PE | Zim & | 5.0 | 5.0 -0.50|-0.25| 2 |-0.25|-0.75
—4Egh68E | ZmiE 4 | 5.1 | 5.1 0.75-0.75] 152 | 1.00 [-1.25
=AEROPE LB T | 49 | 5.0 -0.25(-1.00| 172 |-0.25|-1.00
AR OYE i % | 5.2 | 5.1 -0.50|-0.25| 156 |-1.00| 0.00
SAEGOME | HREE | 46 | 4.7 -1.50(-0.75| 172 |-1.25|-1.50
=6l | smak | 49 | 4.8 -0.50(-1.00| 167 |-1.75|-1.25
=spged | Fo 4% | 49 | 4.9 -1.00|-0.50| 172 |-0.25|-1.00
SARGOHE| FE |38 | 5.1 | 5.1 0.50 [-0.75| 3 | 0.00[-0.25
SAELOVE | Fher & | 5.0 | 5.1 0.00 |-0.75| 168 | 0.25|-1.00
=ARROPE | By & | 4.6 | 4.6 -2.50|-0.75| 173 |-2.25|-0.75
ZARROPE | R & | 5.1 | 5.2 0.00 [-0.25| 165 | 0.25|-1.00
=AEROPE | & | 5.2 | 5.2 0.75|-0.50| 154 | 0.00 |-0.25
SAEROHE | RERIE | 5.0 | 5.1 1.50 [-1.50| 177 | 0.75|-1.25
ZARROPE 4505 | 5.1 | 5.1 0.00 [-0.75| 161 | 0.25|-0.75
=AEROPE |4 | 5.0 | 5.1 0.25(-0.50| 9 | 0.25(-0.75
ZAEROPE | sl & | 5.1 | 5.1 1.00 |-1.25| 158 | 0.25(-0.75
RGO EFAE | 4.5 | 4.4 -3.50(-0.25| 85 |[-4.00| 0.00
ZARGOPE |akaE B | 5.1 | 5.2 0.50 |-0.75| 4 | 0.50(-0.50
=AEROTE | A% | 5.1 | 5.1 1.00 |-1.25| 172 | 1.00 |-1.50
=AEOPE BB | 5.1 | 5.1 1.00 |-1.00| 177 |[-1.00(-0.50




=EsgolE | Fpm e | 49 | 5.1 -0.50|-0.75| 178 | 0.25 [-0.50
ZAEROPE |yt | 5.1 | 5.2 -0.50|-1.50| 173 | 0.25[-0.75
ZHENOHE B AL | 5.1 | 5.1 -1.25|-0.25| 101 |-1.25|-0.25
ZAEROHE el ® | 5.1 | 5.1 0.25]-0.50| 1 |0.50(-1.25
ZAEROPE | sks#5 | 5.0 | 5.0 0.00 |-1.50| 162 | 0.00 [-1.00
=4EROHE Bk ER L | 4.8 | 4.8 -1.25/0.00| 0 [-1.50| 0.00
=AEROPE | e | 5.1 | 5.1 0.25|-0.75| 172 |-0.50(-0.50
=4Esgopt|hmml 4 | 4.8 | 47 -1.25|-0.50| 164 |-1.00|-0.50
ZARRGPE | kbl Z | 4.9 | 4.9 -0.25(-0.50| 159 [-0.50]|-0.50
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RIS | bk | M| AR ZR (AR |\ ZR | AR| AR | AR | 2R | Z20R | ZR
FAESRIBE| % | 5.0 5.0 -0.25-0.29 12 |0.50[-0.50 176
T IPE| FAE# S | 4.5] 4.3 5.0 5.0[1.25-0.50 162}-1.50-0.50 1

AL 1HE| 43858 | 5.0 (5.0 0.00[-0.50 171 [0.00[-0.50 1

HAER1PE (220 |58 | 4.7 ] 4.5 -1.75-0.25 168 1.75-0.50 164
FAER IS5 | 4.7 5.0 -3.25-0.79 163 [0.25|-1.00 177
TAERIPE|EEME | 3.9 4.0| 4.8 4.9 |-13.00-0.50 21 [-2.75-1.0Q 167
HAER 1P| T RM % | 4.6 | 5.0 -2.000.00f O [1.00-0.795 166
TiAER1PE |2 | % | 4.1] 4.1 5.1 5.02.2590.75 173}-2.75-0.75 5

TAER IS B %L | 5.0 5.0 -0.50-0.78 85 [-3.23-0.50 84
FAESR1BE| LM % | 5.2 5.2 -0.250.00 -0.25-1.00 165
FAERIBE |2k A% | 5.0 5.0 -0.75-1.00 1 |-0.75-1.00 175
TAER 1P (254 5E | 5.0 5.0 0.75}-0.258 17110.75(-0.5(0 173
TR BE [ BIRAN S

TEFIBEER S | 49| 5.0 -1.00-0.29 156 (0.00}-0.50 1

TAER I BeERR & | 4.7 | 4.8 -1.000.00f O [-1.000.00f O

FAE 1 PE| wkayei 4 | 5.0 5.0 0.00[-0.50 175[0.75[-0.75 153
HAERIPE| B4 | 5.0] 5.0 -0.50-0.50 172(0.25}-0.79 175
TAERIE HRAE | 4.7 4.7 49] 49 [1.25-0.7§ 176-0.75-1.25 164
HAEHRIVE | EEM T | 4.6 4.9 -1.75-0.25 148 (0.00}-1.0Q0 172
HAERIPE(F 4345 | 4.8 5.0 -1.50-0.50 9 [-0.73-0.73 168
TAER 1P (250 5E | 4.9 4.9 -0.25-0.50 5 [0.50-0.23 170
HAERIE [ APEFH %L | 5.0 5.0 0.75}-1.50 176|0.00[-1.00 161
TAER 1P (=44 | 5.0 5.0 5.0 | 5.0 |2.75[-2.50 169|2.75[-2.50 5

FAESR 1BE | K5kl % | 5.0 5.0 -2.500.00| 0 [|-3.25-0.25 4

HAEFIVE G [« | 4.3] 4.5] 4.8 4.81-3.25-0.50 164 [-3.00-0.7§ 4

FAERIPE|2pyad B | 4.1 47| 5.0| 4.7 F1.25-1.00 7 |-0.259-1.29 173
TR 1ME |2y 4 | 4.3 | 5.1]5.1]5.11.500.00] 0 |0.251-0.29 6

HAER 1P| k58 | 4.7 4.9 -1.25-0.25 142 }-1.50-0.5Q 45
HAEFIPE S5 | 5.0 5.0 -0.500.00( O [0.00]0.00| O

TAERIPE (4540 & | 5.1 5.1 0.00}-0.25 73 |0.00[-0.29 154
TAER 1P | Zemfq 4 | 4.7 5.0 -1.500.00f O [1.00-0.5(0 168
FAER1HE | FAe4 % | 5.0 5.0 0.501-0.50 161{0.75/-0.75 14
TAER 1P 4F5sd % | 5.0 5.0 0.25}-0.253 1710.75(-0.79 178
FAESR IR | Stk % | 5.0 5.0 -0.25-0.25 1700.75}-0.79 154
TAERIPE(2EERE | 4.8 4.8 -0.50-2.00 2 [0.25-2.50 4

TAERIPE e | 4.4 4.4(5.0] 5.0}1.75-1.7§ 2 |-2.75-1.50 174
HEFRIVE| g5 | 4.2 4.2 49| 4.8-3.00-1.00 159 [-3.25-0.7§ 172
TAERIE | #wmE % | 5.0 5.0 0.00[0.00[ 0 [-0.50-0.50 164




FiAER 1| B4 | 4.7 ] 4.8]5.0| 5.0 1.00-0.25 82 |-0.50-0.29 25
FAERIPE| Al % | 4.8 4.7 -1.25-0.25 104 [-1.50-0.75 173
TR 1 PE| a4 | 4.2 4.3]5.0( 5.0 [1.75-0.50 159|1.75-0.50 172
TR 1M Fee |4 | 4.1[4.1]5.0]4.9}3.751.0q 173}3.25-1.75 175
FAE1HE| ik % | 4.8 5.0] 5.0| 5.1 [3.00}-3.50 172]0.00/0.00] 0
FAEIPE| 3kl 8 | 4.3 4.2] 5.0 5.0 [-3.50-0.50 1712.50-2.75 164
TR LB | Z5RE &

FAERIBE | EH B | 5.0 5.1 0.25/-0.75 172]-0.25-0.50 170
HARIPE xR E S | 4.0] 4.8 -2.000.00| 0 [-1.00-1.00 161
FiAER1VE w08 | 45| 40| 4.6| 4.7 3.25-1.50 167|4.25-1.79 5
FAEIPE| s 4« | 45| 4.6] 5.1 5.1 [2.250.79 175|-3.75-0.75 155




FUHE |, o, | B | R | 20 f’g ;{g A | AR ga{g £ | 2R ;fﬂ;?j
) %ﬂﬂﬁ?ﬂﬁ%m__h__ﬁ*ﬁﬁﬁﬁﬁmﬁﬁﬁﬁﬁm_
AR ER S K | 4.7 | 4.9 -2.25(-1.00| 174 |-0.25|-1.25| 171
TAEG2H w4 | 4.8 | 4.8 -0.75|-1.00| 168 [-1.25|-1.00| 3
TAERH Rk 5 | 5.1 | 4.9 -0.25|-0.25| 160 [-0.75|-0.25| 103
TAEg2H e 5 | 4.1 | 4.9 -2.25|-0.25| 150 [-0.75|-0.75| 162
TAEG 2 El % | 5.0 | 4.8 -0.25|-0.50| 150 [-0.75|0.00| ©
TAEG2H TR 5 | 5.1 | 5.1 1.00|-1.00] 2 |[1.00|-1.25| 168
TG sl & | 41| 42| 49| 4.9 [-3.25/-1.00] 3 [-3.00(-1.25| 179
TAE 2P psEf 58 | 4.4 | 4.2 -6.75|0.00| 0 [-6.75|-0.50| 174
HAEGM 4R 4L | 4.8 | 49| 5.1 | 5.1 [-1.25/-0.75| 155 [-0.75|-1.00| 171
ARG ET# 5 | 5.1 | 5.1 0.00|0.00| 0 [-0.25|-0.75| 5
TAEG2 w4 | 5.2 | 5.1 0.50(-0.25| 168 | 0.75(-1.00| 150
TAER2P 353 5 | 5.0 | 4.8 0.00|-1.25| 159 [-0.75|-1.00| 172
TAEg2P 2= 5 | 5.1 | 5.0 0.25(-0.75| 175 | 0.75|-1.25| 176
HAEZ2M 4k | 43| 49| 5.1 | 5.1 |-1.75[-1.00| 164 |-0.25(-1.50| 169
TLAER 2P Al B AR 55
ARG BT 44 | 4.8 | 4.8 -1.25|-0.25| 101 [-1.75|-0.50| 158
TAEG2H izl 4 | 4.7 | 5.0 -1.25|-0.75| 173 [ 0.00|-1.25| 168
TAE2 G4 | 4.6 | 4.6 -1.50|-0.50| 150 [-1.75|0.00| ©
TAEG2H& T A5 | 5.1 | 5.0 0.00(-1.25| 176 | 0.50-1.25| 170
HEFNZFE L | 4.4 | 4.8 -1.50(-1.00| 1 [-0.25|-1.00| 166
fisgpgoppady | 5.1 ] 5.1 0.75[-0.75| 176 | 1.50[-1.25 166
FAEG2 A {4 | 4.6 | 4.7 | 49 | 4.9 [-2.00[-0.75| 9 [-1.50[-0.50| 168
TR Eag%& | 4.0 | 4.0 -5.75|-0.25| 156 [-4.75|-1.00| 10
fisEggp=En®E | 5.0 5.0 -0.25|-0.25| 26 [-1.00|-0.25| 11
FAER2H BB | 4.9 [ 5.0 3.00[-2.00] 172 [ 1.25]-1.25] 4
TAER2 %R 4L | 5.1 | 5.1 1.25(-0.75| 173 | 1.75]-0.75| 170
TAE 2P 22 5 | 5.2 | 5.2 -0.50|-0.50| 163 [ 0.00|0.00| ©
TAEG2P WA 5 | 5.2 | 5.0 -0.25|-0.50| 140 [-0.75|-0.25| 159
HAEG2M 4 T4 | 4.4 | 40| 49| 4.9 [-1.25/-2.00| 173 [-3.50[-2.25| 4
TAE2H EILA S | 5.2 | 5.2 -0.25|-0.25| 50 [-0.25|-0.25| 159
TR BB #%« | 46 | 40| 5.1 | 5.1 |-1.75[-1.50| 167 |-3.75/-0.50| 3
Tl sk i & | 4.8 | 4.8 0.00|-1.00| 144 [-0.50[-0.75| 164
TR 2l | 4.7 | 4.7 -0.75|-0.50| 135 |-1.50[-0.50| 61
TAEG2 iS5 | 4.8 | 4.8 -1.00|-0.25| 3 [-1.50|-0.75| 169
TAEG2M o384 | 5.0 | 4.9 0.50(-0.75| 168 [ 0.75(-1.50| 171
TAEG 2 w5 | 5.1 | 5.1 0.00(-0.25| 172 [ 0.75|-0.75| 178
FAEG2M EiEs{ 5 | 4.6 | 45| 49| 4.9 |-1.00[-1.00| 173 [-2.50|-1.25| 1




FAER2H sk % | 5.1 | 5.1 0.25/0.00| 0 |0.00[-0.25| 159
FAEROP s 3 | 4.6 | 4.8 -1.50|-1.25| 3 |-0.75|-1.50| 173
FAER W 2wk 4 | 5.2 | 5.2 -0.75|-0.75| 170 |-0.50(-0.75| 163
TsER2H kRS | 4.6 | 4.6 | 5.0 | 5.0 |-2.25[-2.25| 168 [-2.75|-2.00| 8
FAERH xR % | 4.8 | 4.8 -0.75|-0.50| 150 |-1.00[-0.50| 177
FAESROH Bkt 4 | 4.9 | 4.1 -0.50{0.00| 0 |5.50(-2.50| 167
AR 20 | 4.7 | 4.4 | 4.8 | 4.8 |-2.75|-0.25| 1 [-2.75|-0.50| 173
FAEROH sekeAi % | 4.9 | 4.8 -0.50|-0.75| 170 |-1.00[-1.00| 168
FAEROH iM% | 5.1 | 5.1 -0.50|-0.25| 166 | 1.25(-1.25| 176
AR EmEp 4 | 4.7 | 4.6 -1.00[-0.50| 152 |-1.25[-0.50| 166
TAEg oM s | 44| 46| 49| 4.9 [-2.50[0.00] 0 |-2.25[-0.25| 173




PR | s | AR | Z2HR | AR | ZRR | AR AR | AR | 2R | 2R | 2R

| 80 | Bh | BRIE | BFIE | BREE | kb | BH | BRGE | ARG | WA
HAERII kweid B | 43| 4.3 | 4.8 | 4.9 |-3.25/-1.50| 166 |-4.50(-1.50| 172
TARESH Ewm |5 | 5.2| 5.2 0.75-1.00| 150 | 0.50(-0.75| 175
HAERSI Foid% | 47| 46 | 5.1 | 5.1 |-1.50[-0.25| 166 |-1.50|-0.50| 173
TAERSP R g & | 4.7 | 5.0 -1.25/0.00| 0 |-0.25|-0.50| 12
TAERIP RS | 4.8 | 5.0 -1.50[-0.25| 169 |-2.00[-0.25| 159
TR Tk & | 5.0 | 5.0 -1.75[0.00| 0 |-1.25[-0.25| 157
TAERS e tatd & | 5.0 | 4.9 0.50(-1.00| 159 [-0.25|-0.75| 174
TARSHME | & | 5.0 | 5.0 -0.75[-1.00| 11 |-0.25|-1.25| 164
TAERSP Al & | 4.8 | 5.0 -1.00[-1.00| 161 | 0.00(-1.00| 3
HAERIM kS | 42| 4.3 | 4.9 | 5.0 |-2.00/-0.50| 176 [-2.00[-1.00| 166
TAERIPY 4k E % | 5.1 | 5.1 0.75|-0.25| 153 [ 0.75|-0.75| 171
TARSB E MiE & | 5.0 | 5.0 -0.75[-1.50| 177 | 0.50 [-2.00| 170
FAERSH xS | 5.2 | 4.9 0.25[-0.25| 152 | 0.50(-0.50| 147
TAERSP AP & | 4.8 | 5.0 0.00 [-0.50| 159 | 0.50[-1.00| 166
FAERIPE 24k & | 4.3 | 4.2 | 4.9 | 4.9 [-4.50[-1.00| 177 |-4.75|-1.50| 178
Fpgasesa s | 47| 47| 49| 4.9 |-1.25]-1.00] 169 |-1.75|-0.50] 176
T3 el m | 5.1 ] 5.1 0.25]-0.50] 10 [0.25[-0.75] 170
TR sE 58 E | 5.0 | 5.0 -0.50[-0.75| 176 | 0.25|-1.00| 175
HAERIIM S | 45| 4.4 | 49| 4.9 |-2.75/-1.00| 173 |-2.75|-1.25| 174
FAERSP R KM E | 5.2 | 5.1 0.75(-0.75| 147 | 0.00(-0.25| 15
TARSSH MR & | 5.0 | 5.0 0.25(-1.50| 172 | 1.00|-1.50| 2
TAERSI s & | 4.6 | 4.9 -0.75[-1.00| 167 | 0.75|-1.50| 2
FAERIP B | & | 4.8 | 4.8 -1.25|-1.00| 3 |-1.50|-1.00| 175
TR k5 S | 5.1 | 5.1 0.50(-0.75| 164 | 0.00|-0.50| 163
FAERZS 45 % | 5.0 | 5.0 +0.75[-0.75| 147 | 0.00 [-0.25| 15
RS F/Ri & | 5.1 | 5.2 -0.75/0.00| 0 [-0.50[-0.25| 171
FHAERII 4654% | 40| 40| 5.0 | 5.0 |-2.25|-0.25| 113 [-2.75|-0.50| 5
TAERSP s S | 4.8 | 4.7 -1.00|-0.50| 171 |-2.25|0.00| 0
TAERSP i mpll & | 4.9 | 5.1 -1.00[-0.25| 3 |0.25(-1.00| 172
TAERSH ERAE [ 5.0 | 5.0 0.75(-0.75| 140 | 0.25|-0.25| 168
TAERSP 4 & | 5.1 | 5.0 -1.25|-0.50| 154 |-1.25|-0.50| 168
HAERIM EE L | 41| 41| 5.1 | 5.1 |-5.75|-1.25| 171 |-5.75|-1.50| 174
FAERISH S | 49| 4.9 0.00{0.00| 0 |[0.50|-0.50| 165
HAERIIM 4 & | 45| 4.2 | 4.8 | 4.7 |-2.00/-0.75| 175 [-2.00[-0.75| 3
FAEHSP RS | 5.2 | 5.1 -0.75|-1.75| 3 |1.00(-1.25| 174
HAEBIP phpesal 5B | 4.4 | 45| 49| 5.0 |-2.75/-0.75| 7 |-2.50|-0.25| 158
FAERSP| F &4 & | 5.0 ] 5.0 0.50 [-1.00| 155 | 0.00[-0.75| 13




TR EM k5 [ 5.1 [ 5.1 -0.25|-0.25| 4 |-0.25|-0.75| 174
FAEHII 154 & | 4.6 | 4.6 | 5.0 | 5.0 |-1.00[-1.25| 3 [-3.50|-1.25 1
FAERIP £ | 5.1 | 5.1 -2.00(-0.75| 171 [ 0.50|-1.25| 169
TR =S | 5.1 | 5.1 -0.25(-0.25| 145 |-0.75/0.00| O
TR RERA S | 4.8 | 4.8 -1.00{-0.75| 4 |-4.50|-0.50| 151
FAERIPY k5B | 4.8 | 4.8 -1.75(-0.50| 171 [-2.00|-0.50| 163
TR E LK%« | 4.6 | 5.0 -0.25[-0.25| 3 [0.50(-1.00| 165
FAERIP A 5E | 4.9 | 4.9 0.00|-0.50| 164 |-0.25[-0.50| 168
TAERIP skrn (4 | 4.9 | 4.9 -0.50(-0.25| 157 [ 0.00[0.00| ©
TR o (58 | 4.4 | 4.5 | 5.0 | 5.0 [-2.75/-0.25| 164 |-1.75|-0.75| 161
FAEF3I kAl & | 4.0 | 4.0 | 5.0 | 5.0 |-5.25(-1.50| 174 [-3.25|-1.75| 169




TG | g || AR ZR | AR | ZR | AR | AR | AR | ZR | ZR | ZR
FAERAVE F3k52 5 | 5.0 | 5.0 0.75(-0.75| 136 |-0.50| 0.00| 0
TARRAPE ks & | 4.7 | 4.8 -5.75[-0.50| 175 |-3.75[-0.50| 2
FAERAVE k3R & | 4.8 | 5.0 -3.00|-1.25| 168 | 0.50|-0.75| 2
TAERAYE FE |5 [ 50| 5.0 0.25]-0.50| 159 [-0.25|-0.50| 142
TUAERAVE 35038 & | 4.4 | 4.4 | 4.9 | 4.9 [-4.50|-2.75| 174 [-5.00[-2.25| 170
FAERAYE KB 7wl 58 | 5.0 | 5.0 -1.25/0.00| 0 |-1.00|-0.25| 169
FAERAVE Sz 5 | 5.0 | 4.3 0.75(-0.75| 167 | 3.75|-1.00| 10
TUARRAPE| s A 4 | 4.4 | 4.3 | 5.0 | 5.0 [-2.50|-0.50| 170 [-2.25[-1.00| 158
FAERAVE (5480 & | 5.0 | 5.1 0.00(-1.00] 3 |0.25|-1.00| 176
TR APE Tl & | 46 | 4.7 | 5.1 | 5.1 |-1.00{0.00] 0 [-0.25[-0.25| 1
TUARRAVE| kit 5 | 4.7 | 49| 5.0 | 4.9 [-0.25|-3.25| 2 [-0.75|-3.25| 177
FAERAVE N & | 4.4 | 5.0 -2.25|-0.25| 161 | 0.75|-0.75| 2
FAERAYE ik 5B | 4.8 | 4.9 -1.25[-1.00| 168 |-0.50[-1.00[ 171
FAERAVE (L2 & | 5.0 | 5.0 0.00|-0.75| 169 | 0.50|-1.25| 171
FAERAVE| By 55 | 4.8 | 4.8 -1.75|-0.75| 3 |-1.75|-1.00] 2
FAERAVE 12 ¥Rl B | 5.0 | 5.0 0.00|-1.50| 1 |0.00[-0.75| 152
FAERAVE 1252 5 | 5.0 | 4.8 -0.50[-1.50| 178 | 0.00[-1.75| 179
FAERAVE MR 5B | 4.4 | 4.7 -2.75|-0.25| 162 |-1.00|-1.50| 178
FAERAVE x4k ik & | 5.0 | 4.8 -2.50[-1.50| 177 |-1.00[-2.25| 170
FAERAVE [ 2 vkl & | 4.8 | 4.8 -1.75[-0.75| 167 |-1.50[-1.25| 172
FTAERAPE EES S [ 5.1 ] 5.1 0.00|-1.75| 172 |0.50|-1.75| 170
HAERAVE EE W & | 49 | 5.0 0.00|-1.25| 165 | 0.00[0.00| 0
TUAERAVE| A5k B & | 4.0 | 4.0 | 5.0 | 5.0 [-4.75|-0.50| 149 [-3.50[-1.00| 167
FAERAYE gEiss2| 5B | 5.2 | 5.2 -0.50|-0.50| 7 |0.25|-1.25| 173
FAERAVE Y B | 5.2 | 5.2 0.25|0.00| 0 |[0.00[-0.25| 171
TUAERAVE s |5 | 4.8 | 4.6 | 5.0 | 5.0 [-1.25|-0.75| 3 [-1.25|-1.25| 168
FAERAYE ViRl 5B | 5.2 | 5.2 -0.50| 0.00| 0 |-0.25|-0.25| 147
TR ABE| ekl & | 4.0 | 4.2 | 4.9 | 4.9 |-2.00[-0.75| 172 [-3.25[-0.25| 175
TUAERAVE| Bl & | 4.5 | 4.8 | 4.9 | 5.0 |-2.50|-0.50| 149 [-1.00{-0.50| 174
FAERAVE 1510 & | 4.8 | 4.7 -0.25|-0.75| 153 |-0.50|-0.75| 162
TR ADE| 2wl & | 4.5 | 4.6 | 4.8 | 4.9 |-2.50[-0.50| 154 [-2.50[-0.75| 146
FAE AP MR e & | 4.9 | 4.9 -1.25[-0.25| 159 |-1.50[-0.25| 153
FAERAYE R || 5.2 | 5.2 0.25(-1.50| 169 | 0.25|-1.25| 6
TR APE| ik 4| 4.7 | 45| 5.1 | 5.1 |-0.75|-1.00| 173 [-1.00[-0.75| 173
TARRAPE Bkl & | 4.7 | 4.9 -1.25[-1.00| 175 |-0.25[-1.25| 165
FAERAVE fafi g 55 | 4.7 | 4.9 -2.75|-0.25| 6 |-0.25|-1.25| 167
TR APE R 5 | 4.6 | 4.9 | 5.0 | 5.0 |-1.50[-0.25| 169 [-0.75[-2.00| 175
FAERAYE S5 & | 5.1 | 5.2 -1.25[-0.25| 4 |0.25(-0.75| 160




FiApgavE| Eegm 5 | 5.1 | 5.1 -0.50[-1.25| 90 |0.75|-1.75] ©
HAERAWE k2| 9 | 5.0 | 5.0 1.00|-2.25| 7 |[1.50[-1.25| 173
FAER AV 3748 & | 5.0 | 5.0 -2.75-0.75| 160 |-2.75|-1.00| 175
FAEGAPE ke 9 | 5.0 | 5.0 0.25[-0.25| 163 [0.75]-0.50| 6
FAEAVE Fpal & | 4.1 | 43| 5.0 5.0 [-2.75[-1.25| 178 |-3.00[-1.50| 175
FAERAVE B4 9 | 4.9 | 4.9 -0.75(-0.50| 3 |-0.25|-0.50| 174
FAEGAPE s % | 5.0 | 5.0 1.25(-1.00| 167 | 1.00[-1.00| 169
TAEGABE a7 pH 3 | 4.8 | 5.0 -0.75(-0.50| 169 |-2.50[-0.50| 154
FAERAE R | 5.1 | 5.1 0.25(-1.00| 170 | 0.75|-1.25| 175
FAES AP giE & | 5.1 | 5.1 0.75|-1.50| 176 | 1.00(-1.25| 2




I | 4 || AR | 2R | AR | 2R | AR | AR | AR | 2R
TAERSPE#a03 | &| 5.2 | 5.2 0.25 | -0.50| 177 | 0.25
TUAESPE| 54 |%&| 5.0 | 5.0 -0.75[ 0.00| 0 | 0.25
FARRSPE| Fi4 |B| 43 | 46 | 5.1 | 50 |-1.25]|-1.00| 170 |[-0.75
AR SE| priEw | &| 5.0 | 5.0 -0.75[-0.50| 171 | 0.25
TAERSPE M s || 5.1 | 5.1 0.25|-0.75| 3 | 0.50
FAEGSHE| 25453 |[%&| 5.0 | 5.0 -0.25[-1.25| 165 | 0.50
TAEFSHE| 7R | &| 4.7 | 4.8 -1.25[-1.25| 174 |-1.00
TR SHE| 26 |5 5.0 | 4.9 -1.25|-1.00| 165 |-1.00
FAERSPE B |5B] 5.1 | 5.2 0.25|-0.75| 170 | 1.25
FARSPE| sy (5| 5.0 | 5.0 -0.50[-0.25| 149 | 0.00
TAERSPE #p4r |5B] 4.4 | 5.0 -1.75|-1.00| 166 |-2.50
TAEGSPE| 44 e %« | 5.0 | 5.1 2.00 | -2.50| 177 | 0.75
TAEgSHE| 7% |#&| 5.0 | 5.0 -0.75[-0.25| 162 |-0.25
TAERSPE|Jm#2 | &| 4.6 | 4.6 -2.75|-0.75| 162 |-2.25
FAESHE| Bl |5 4.9 | 5.2 0.00 | -0.50| 174 | 1.00
HAERSHE Tz |B| 46 | 4.6 -1.50[-0.50| 166 |-1.50
TAERSHE THR3: |B| 48 | 4.6 -0.75|-0.50| 167 |-1.50
FAEGSHE| 44 |5 5.2 | 5.2 -0.50(-1.00| 5 |-0.25
TARSPE| &=ists |&| 4.6 | 4.6 -2.25[-0.50| 149 |-2.50
TLAERSPE| 2si5ms | &| 5.1 | 4.9 0.25 | -0.50| 160 |-0.25
FARRSPE| ey |[&| 44 | 40 | 5.1 | 5.1 |-1.25]|-0.25| 171 [-1.75
TAEHSHE A | B

TAERSHE 2 EUR [5B] 5.0 | 5.1 0.25 [ -1.75| 169 |-0.25
FAEGSPE| s |5 4.3 | 5.0 -4.00[-0.25| 12 |-0.75
TAEGSHE| Kk || 4.8 | 4.8 -1.00[-0.75| 9 |-1.50
FAESPE| isezs (B 42 | 42 | 46 | 4.6 |-4.50|-0.25| 114 |-4.75
FAFEHSPE| ERke | &| 4.7 | 4.6 -2.00[-0.50| 169 |-1.50
TAESPE| e gesr |&| 4.9 | 4.8 -0.50[-0.75| 157 |-1.00
TUAESPE| 59k % |%&| 5.0 | 5.0 0.25]-0.50| 161 | 1.00
FHARRSPE|#prye | &| 45 | 43 | 5.0 | 5.0 |-1.50|-0.75| 177 |-1.75
FAERSHE 2 EE | B -4.00[-0.25| 48 |-1.75
TAERSHE| M E |%&| 5.0 | 5.1 +0.75| -0.75| 160 |-0.50
FHARRSPE s || 48 | 46 | 5.1 | 5.0 |-2.25|-0.50| 93 |[-2.00
TAERSPE B | &| 5.0 | 4.8 1.00 | -2.00| 175 | 0.50
FAERSPE| PR (B 42 | 42 | 5.0 | 5.0 |-4.50|-0.25| 100 |-4.25
FAEGSHE| 72 |%] 5.0 | 5.0 -1.25[-1.00| 168 | 0.00
FARSPE| 255tk |9 5.1 | 5.1 0.25 | -0.50| 167 |-0.25
FAERSHE| 244 || 5.1 | 5.2 0.75|-0.50| 165 | 0.50




TR SYE| sy || 4.5 | 4.8 -2.00(-0.25| 6 |-2.00
FAERSYE| G |B| 4.7 | 4.8 -1.00| 0.00| 0 |-0.75
TSR XFE |&| 5.1 | 5.0 0.75 | -0.75| 160 |-0.50
TAEFSPE| Ak |B| 42 | 43 | 5.1 | 5.1 |-4.25[-0.50| 168 |-2.50
RSP A6 | K| 4.9 | 4.5 0.00 | -1.00| 163 |-1.00
TUAERSPE sk [%&| 5.1 [ 5.2 0.75|-0.50| 179 | 1.25
FAERSYE| ks | &| 4.8 | 5.0 -4.00|-1.25| 167 | 0.00
TAESRSHE| 2 [&| 5.1 | 5.2 | 5.1 | 5.2 [-0.75[-0.75| 2 |-0.25




ZeHR

ZeHR

-0.50

158

-0.50

173

-1.25

176

-0.75

159

-2.00

162

-1.25

169

-1.00

-1.00

173

-1.50

171

-0.75

-0.75

-0.75

178

-0.75

55

-0.25

170

-1.25

177

-1.00

175

-0.50

176

-0.75

168

-0.25

166

-0.50

168

-0.75

172

-1.75

177

-1.00

171

-1.00

178

-0.25

152

-0.50

163

-0.50

175

-1.25

-0.75

144

-0.50

159

-0.50

-1.25

177

-2.25

174

-0.25

153

-0.75

176

-0.75

166

-0.75

161




-0.50

170

-0.25

-0.50

-1.25

177

-0.25

13

-1.25

159

0.00

-0.50

176




IR | 4 | ME| AR | AR | AR | 2R | AR | AR | AR | ZR | ZR | 2R
A6 sk 5 | 5.0 | 5.0 0.75(-1.25| 173 |-0.25(-1.00| 62
FAE6PH 2l ® | 40| 40| 46| 5.1 [-1.25/-1.25| 6 [0.00(|-1.75| 176
FHAEGOPH #hrTin| % | 4.6 | 4.7 | 5.0 | 5.0 |-1.75[-0.25| 144 |-1.25(-0.25| 143
FAEg6PH 28 E 5B | 4.8 | 4.9 -1.50|-0.25| 112 [-0.75[-0.50| 160
FAEF 6P s 5 | 5.0 | 5.0 0.00([-1.00| 4 |[0.00[-1.00| 177
FAEZOHE X 5455 | 5.0 | 4.9 0.25(-1.00| 167 |-1.25[-0.75| 170
FHAEBOPE iz fktal e | 4.2 | 47| 49| 4.9 [0.00[-1.00] 4 [0.00|-1.00| 177
TGO X Ew & | 4.9 | 4.5 0.00|-1.25| 170 [-0.75|-1.25| 6
TG 6P sk 4 | 4.9 | 5.0 -0.25|-0.75| 157 [ 0.25|-0.75| 168
T 6P A Eam| 5B | 4.6 | 4.6 -1.75|-0.50| 2 |-1.75[-0.50| 176
FHAEBOPH x| E4F|% | 46 | 49| 5.1 | 5.0 [-1.25[-1.25| 6 |[0.00(-1.75| 176
FAEGOPE fprhp| 5 | 4.5 | 4.3 | 49| 4.9 [-1.25/-1.25| 166 [-1.50|-1.00| 177
TR 6P ApiiE| 4 | 5.1 | 5.1 0.25|-0.25| 67 |0.00|0.00| O
FAELOVH FE |« | 4.5 4.5 -1.50[-0.50| 166 |-1.25|-0.25| 146
FAELOPH 7|4« | 45| 4.6 | 5.0 | 4.9 [-1.00|-1.75| 176 [-2.00|-1.00| 3
FAEg6PH k|4 | 5.1 | 5.0 1.25(-1.25| 151 | 0.00|-0.50| 167
FHAEBOIH w4« | 45| 45| 5.0 | 5.0 [-2.00[-0.75| 155 [-1.75[-0.75| 162
FAER 6T k=5 | 5.0 | 5.0 0.25(-1.00| 166 | 0.25(-0.50| 167
TSRO ey & | 5.2 | 5.2 0.25(-0.75| 166 | 1.00|-1.00| 168
FHAEBOI | | 4.4 | 44| 49| 49 [-2.00]-1.75| 173 [-2.50(-3.25| 168
FAEBOPH FAhk|% | 4.0 | 40 | 4.8 | 4.8 [-4.00[-1.25| 2 [-4.00|-1.00| 2
FAESOPH G (B | 41| 4.1 | 49| 4.9 [-5.50[-0.25] 1 [-5.25/0.00| O
HAERH 48 (B | 40| 40| 4.7 | 4.7 |-5.50{-0.75| 162 |-5.75|-1.75| 176
Ao kel 4« | 5.2 | 5.2 -1.00|-0.25| 175 [-0.25|-1.50| 170
TAEROPH g% | 4.8 | 49 -1.25|-0.75| 176 |-0.25|-0.50| 168
FAEH6PH & FHl 4 | 43| 49| 49| 5.1 |-1.50[-0.75| 162 |-0.25(-0.75| 174
FARROPH bhii| & | 4.0 | 4.0 | 5.0 | 4.9 [-2.00[-0.75| 177 |-2.00[-0.75| 166
TAE 6P 23| 4 | 4.4 | 4.3 -2.75|-0.25| 99 [-2.75|-1.00| 177
TR OVE BR Mg 4 | 4.4 | 4.7 -1.75|-0.50| 4 [-1.50[-0.50| 165
FAE 6P B4 | 4.3 | 4.3 | 5.0 | 5.0 [ 1.00(-1.50| 175 |0.75|-1.25| 174
Ao s R[5 | 5.1 | 5.1 -0.75|-0.50| 171 [-1.25|-0.50| 163
TR 6P it | 4.3 | 4.3 -2.75|-0.50| 124 [-3.00[0.00| ©
TLAEZR 6 B | & | 5.1 | 5.1 0.50(-1.25| 166 | 1.50(-1.50| 170
FAE 6P Mkt & | 4.8 | 4.9 1.75(-1.25| 162 | 1.50|-1.75| 178
FAE6HE | 4 | 5.0 | 4.8 0.25(-0.75| 163 [-0.25|-1.00| 170
FAEBOPH 2 & | 4.2 | 4.9 -1.25|-0.50| 150 | 1.50|-1.25| 178
FUAE OB Figli & | 4.6 | 4.6 -1.25|-1.75| 168 [-1.75|-1.50| 1
FLAE 6P k| 5 | 4.5 | 4.6 -2.00[-0.50| 11 [-1.25|-1.00| 154




T 6P Bk B | 5.0 | 5.0 0.25|-0.75| 3 |0.25[-0.50| 177
FLAER OB 24k B | 5.0 | 5.0 0.00|-0.25| 176 [ 0.50|-0.25| 143
TLAER OB sk &4l & | 5.0 | 5.0 0.25(-0.25| 169 | 0.50(-1.25| 171
FAEOPH g4« | 5.2 | 4.8 | 5.1 | 5.1 [2.00(-1.00| 161 | 1.50(-1.25| 163
FARROPH Bt & | 4.4 | 4.4 | 5.0 | 5.0 [-4.00[-0.25| 155 [-4.25|-0.25| 161
FHAEBOPH wugpE| B | 4.1 | 42| 5.0 | 5.0 [-1.50|-1.00| 173 [-1.75|-0.75| 158
TLAER OB 2w dE| B | 5.0 | 5.0 -0.25[0.00| 0 |0.00(-0.50| 162
TUEROH Eggl & | 5.2 | 5.1 0.00 [-0.50| 162 | 0.50|-0.75| 167




